

Installing

**Revelry Event Designers** 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

PO:

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

08/13/2025 09:00 AM | All Crew to Flight on 08/14/2025 09:00 AM | Crew To Cross Load 08/15/2025 09:00 AM | Crew to Install 08/16/2025 09:00 AM | Crew to Continue

**Shipping Address: Dunbar Ranch** Salesperson: Romina Manolio 47200 CO-82, Aspen, CO 81611

Due Date: Upon Receipt

**Invoice Date:** 

08/17/2025 09:00 AM | Event Date

08/17/2025 09:00 AM | Crew to Finalized install

08/17/2025 04:00 PM | Stand by Team 08/18/2025 04:00 PM | Crew to Strike

08/19/2025 04:00 PM | Crew to Cross Load

08/20/2025 04:00 PM | Crew to returned

Description		Qtty	Price		Total
BriDal Holding T	ent By Ceremony				
	Wall Mirrors - Milan - Wall Mirror Painted in White for bridal Suit 37"W x 75"H - Custom Frame Color Upon Request	2	\$276.00	Т	\$828.00
6	Club & Lounge Chairs - Beirut - Ivory Velvet For Bridal Suit 30"W x 32"D x 27"H	4	\$358.80	T	\$2,152.80
	Accent Tables - Wood & Travertine Fro Bridal Suit 18.5"Diam x 22"H	2	\$204.00	Т	\$612.00
	То	tal BriDal Holding	Tent By Cerem	ony	\$3,592.80
Ceremony					
	Umbrellas Paloma Grande White Sub Rental Found To Be used with musicians With Bases	3	\$130.20	Т	\$781.20
	Garden Accent & Coffee Tables - Round Outdoor Painted : Mahogany 28" H X 24" W X 24" L	1	\$69.00	T	\$103.50
			Total Cerem	ony	\$884.70
Cocktail Hour					
	Garden Sofas - Shakespeare Garden - Metal Painted in Black Semi Gloss with Off White Cushions 79"W x 33"L x 31â\text{\text{\$M\$}} H	4	\$570.00	Т	\$3,420.00
	Garden Club & Lounge Chairs - Shakespeare Garden Metal Painted in black Semi Gloss with off white Cushions 24"W x 28"L x 36â\( \text{M} \) H	16	\$303.60	Т	\$7,286.40

Description		Qtty	Price		Total
	Coffee Tables - Toronto - Rectangular Painted in Black semi Gloss To be with the Sofas 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$207.00	Т	\$1,242.00
	Coffee Tables - Toronto - Oval Painted Black semi gloss to be with the day beds 36"W x 24"L x 18"H	4	\$207.00	Т	\$1,242.00
	Garden Sofas - Shakespear - Sofa With Awning Painted Semi Gloss With Off white Cushions and Awning 78 1/4"L x 32"W x 85 3/4"H	4	\$660.00	Т	\$3,960.00
	Ottomans - Standard Pod Green TBD 18"RND x 17"H - Cover Color Upon Request	24	\$41.40	T	\$1,490.40
	Accent Table - Toronto - Round Painted in Black semi Gloss 24"Diam x 23"H - Custom Frame Color & Top Upon Request	6	\$82.80	Т	\$745.20
	Garden Bistro - Descanso Gardens - Bistro Painted in Black Semi Gloss 42"Diam x 29 1/2"H - Frame Color Upon Request	11	\$228.00	Т	\$3,762.00
	Garden Dining Chairs - Foldable Metal - Multicolor Garden Dining Chairs - Foldable Metal - White Linen Cushion  Sit Down Tables Painted in Black Semi Gloss 16" Diam x 37.5"H - Custom paint upon request	55	\$42.00	T	\$3,465.00
	Nicole Green Bar Sub Rental From Found	2	\$2,607.00	T	\$10,428.00
	Nicole Green Round Shelved Sub Rental from Found	2	\$825.00	Т	\$3,300.00
	Tucker Bars In Green Sub Rental from Found - To be used for Tequila and Martini Bars to Be used with tables and Linen Barback	2	\$651.30	T	\$2,605.20
	Mix and Match Pillows Shades of Green and Off whites	40	\$42.00	Т	\$2,520.00
	Paloma Grande White Umbrella	25	\$150.00	Т	\$7,500.00
			Total Cocktail H	our	\$52,966.20
Outside Deck Lo	unge Option 1				
	Sofas - Bruges - Round Left - Nude Boucle 10'W x 65"L x 25"H	2	\$720.00	Т	\$2,160.00
	Sofas - Bruges - Round Right - Nude Boucle 10'W x 65"L x 25"H	2	\$720.00	T	\$2,160.00

Description		Qtty	Price		Total
	Coffee Tables - Nesting Tables - Multicolor Painted Pewter or Mahogany 42"Diam x 18"H - 31.25" Diam x 16"H - Can be custom painted upon request	12	\$345.00	Т	\$6,210.00
	Sofas - Pasadena - Ivory Velvet 8'W x 34"L x 28"H	2	\$621.00	Т	\$1,863.00
	Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H	2	\$358.80	Т	\$1,076.40
	Club & Lounge Chairs - Bruges - T Back Nude Boucle 41"W x 36"D x 28"H	16	\$358.80	Т	\$8,611.20
	То	tal Outside De	ck Lounge Optic	on 1	\$22,080.60
Outside Deck Lo	ounge Option 2				
	Coffee Tables - Paris - Gold 36"W x 21"W x 17"h	12	\$248.40	Т	\$4,471.20
	Sofas - Toulouse - Love Seat - Green Velvet 01	1	\$345.00	Т	\$517.50
	Sofas - Toulouse - Love Seat - Green Velvet 02 45" x 34" x 36"	1	\$345.00	Т	\$517.50
	Sofas - Venice - Green Velvet 3 7'W x 33"L x 38"h	2	\$414.00	Т	\$1,242.00
	Sofas - Venice - Green Velvet 4 8'W x 33"L x 36"h	2	\$414.00	Т	\$1,242.00
	Club & Lounge Chairs - Venice Arm Chair Green Velvet	4 2	\$248.40	Т	\$745.20
	Club & Lounge Chairs - Venice Arm Chair Green Velvet	3 4	\$276.00	Т	\$1,656.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet	2	\$248.40	Т	\$745.20
	29"W x 30"L x 37"H				
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 1 28"W x 34"L x 39"H	1	\$248.40	T	\$248.40
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 2	1	\$248.40	Т	\$248.40
	28âN N <b>W</b> 28âN N <b>x</b> 37âN N H				
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 2	1	\$248.40	T	\$248.40
	30"W x 28"L x 36"H				

Description		Qtty	Price		Total
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 1 30"W x 28"L x 38"H	1	\$248.40	Т	\$248.40
	Coffee Tables - Glass And Antique Brass Cube 36.5" x 36.5" x 18"H	6	\$276.00	Т	\$1,656.00
	То	tal Outside De	ck Lounge Optio	n 2	\$13,786.20
Outside Deck Lo	ounge Option 3				
	Ottomans - Santorini - Pillow - Off White Boucle With Custom Cover matching Sofas 40"W x 40"D x 17"H	12	\$300.00	Т	\$5,400.00
	Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request	12	\$41.40	T	\$745.20
	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H	4	\$234.60	T	\$1,407.60
	Coffee Tables - Round - Multicolor 48"round x19"h	10	\$345.00	T	\$5,175.00
	Sofas - Upholstered Chenille - Camel 95"W x 41"D x 30"H	4	\$540.00	Т	\$3,240.00
	Sofas - Basketweave Fabric - Ginger 99.5"W x 44.5"D x 31" - Seat Height 16.5"	4	\$540.00	Т	\$3,240.00
	Club & Lounge Chairs - Upholestered - Ginger 32.5"W x 31"D x 31"H - Seat Height 18"H	8	\$300.00	Т	\$3,600.00
	Club & Lounge Chairs - Basketweave Fabric & Ash Woo - Brown 26"W x 33.5"D x 30"H	od 6	\$300.00	Т	\$2,700.00
M	Coffee Tables - Antique Brass Nesting Large - 28" x 15.5"H, Small -	4	\$276.00	Т	\$1,656.00
	То	tal Outside De	ck Lounge Optio	n 3	\$27,163.80
Reception Drap	9				
	Fabric Treatment cover a 30x 10x 13'H Bar tents in Velvet Como Olive -Walls to be down 3 sided Ceiling to Be swags with Chiffon no back on Cleat tent	2	\$8,040.00	Т	\$16,080.00
	Fabric Treatment Cover for a 30 x 20x 13'H in Velvet Como Olive - Walls to be Down 3 sided Ceiling To Be Swags in Chiffon no backing on Clear Tent	1	\$10,200.00	Т	\$10,200.00
	Custom Made ceiling Treatment for a 82'x148	1	\$36,000.00	Т	\$36,000.00

Description		Qtty	Price		Total
	Wall treatment For Inside of a 82'x148'x 13'H Green Olive Velvet Como - To Drape 300 'x 13'H With Valance, pullbacks and Swags on chosen areas Areas	1	\$12,000.00	Т	\$12,000.00
	Custom Made Gable Ends inside Green Olive Velvet Como 82'x 25' H. With Extra Puddle to Create entrance Main One side to be all pullback	4	\$11,280.00	Т	\$45,120.00
	Made wall treatment outsid  Velvet Como olive To cover Outside tent Main Wall and behind as well 300'x 13'H to Be Pullback and Swags	1	\$12,000.00	Т	\$12,000.00
	Custom Made gable End Outside 82'x25'H	1	\$11,280.00	Т	\$11,280.00
			Total Reception Dra	аре	\$142,680.00
Reception Cha	ndeliers :				
	Annie Tres Grand chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	5	\$428.40	Т	\$4,284.00
	Annie Grand Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	9	\$283.20	Т	\$5,097.60
	Annie Chandelier	10	\$217.20	Т	\$4,344.00
	Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing				
	Annie Pettite Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	16	\$194.40	Т	\$6,220.80
	Dawson Petitte chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	2	\$194.40	Т	\$777.60
	Braelyn Grande chandelier	8	\$428.40	Т	\$6,854.40
	Chandeliers - Avignon - Crystals - Large Revelry With Flat Rushing 18"Diam x 34"H - 18lb	4	\$264.00	Т	\$1,584.00
	Chandeliers - Avignon - Crystals - Medium Revelry with Flat Rushing 16"Diam x 32"H - 15lb	5	\$240.00	Т	\$1,800.00
	Chandeliers - Avignon - Crystals - Small Revelry with Flat Rushing 10"Diam x 17"H - 8lb	6	\$180.00	Т	\$1,620.00
	Braelyn Chandelir Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	16	\$194.70	Т	\$6,230.40
	Braelyn Medio Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	10	\$217.80	Т	\$4,356.00

Description		Qtty	Price		Total
	Charlotte Grande Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	4	\$930.00	Т	\$7,440.00
	Charlotte Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	4	\$254.10	Т	\$2,032.80
	Charlotte Petite Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	2	\$253.20	Т	\$1,012.80
	Alba Grande Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	3	\$261.60	T	\$1,569.60
	Alba Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	1	\$228.00	Т	\$456.00
	Alba Petite Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	13	\$194.40	Т	\$5,054.40
	Allison Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	10	\$228.00	T	\$4,560.00
	Allison Petite Chandelier Sub Rental Found - Revelry To Provide light Bulbs matching ours and Flat Rushing	7	\$217.80	Т	\$3,049.20
	Tuscany Pendant Large Tear Drop with laurel Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	2	\$360.00	Т	\$720.00
	Tuscany Pendant- Globe Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	5	\$360.00	Т	\$1,800.00
	Tuscany Pendant - Oblong Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	4	\$360.00	Т	\$1,440.00
	Tuscany Pendant- Medium Teardrop Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	5	\$300.00	Т	\$1,500.00
	Tuscany Pendant - Medium Oblong Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	3	\$330.00	Т	\$990.00
	tuscany Pendant - Small Oblong Sub rental From Ambar - Revelry To Provide Light bulb Matching ours and Flat Rushing	7	\$300.00	Т	\$2,100.00
D		Total Rec	eption Chandelie	ers :	\$76,893.60
Reception	Bars - Santa Barbara - Square Molding 8' Mahogany 8'x 30"x 42"H - Custom Color Upon Request	4	\$1,080.00	T	\$6,480.00
	New Bars - Santa Barbara - Square Molding 8' Mahogany	4	\$1,440.00	Т	\$5,760.00

Description		Qtty	Price		Total
	Custom Made Barbacks 24' long	2	\$3,840.00	Т	\$7,680.00
	Custom Made Barbacks 8' Long	2	\$1,440.00	Т	\$2,880.00
	Sconces - Avignon - Crystal For 24' Bars 13"W x 28"H - 25 Watts	4	\$144.00	Т	\$576.00
	Small Decor - Glass Bottle 03	6	\$20.70	Т	\$124.20
	Small Decor - Glass Bottle 01 Barback Detail 3â\[ \text{W} \text{W} \text{3â}\[ \text{N} \text{L} \text{8â}\[ \text{N} \text{H}	30	\$20.70	T	\$621.00
	Small Decor - Glass Bottle 02 Barback Detail 3â\( \text{W} \text{ W} 3\hat{a}\( \text{N} \text{ N} \text{ L} 8\hat{a}\( \text{N} \text{ H} \text{ H}	30	\$20.70	T	\$621.00
Fi	Dining Chairs - Florence - White W/armrest & Wood Frame For Hora 27"W x 23"L x 40.5"H	2	\$26.22	T	\$78.66
X	Dining Tables - Manchester - Dark Wood To be used Together 8âM & 4âM & 30âM H	10	\$690.00	T	\$10,350.00
T	Dining Table - Tuscany - Dark Wood 8' To be used Singles 8'W x 48"L x 30"H	4	\$552.00	T	\$3,312.00
m	Dining Chairs - Tuscany - Velvet W/ Wood Legs (195 max) To be used on Rectangular tables 20"W x 25"L x 38"H	195	\$34.50	Т	\$10,091.25
T	Dining Table - Tuscany - Dark Wood Round 66" 66"Diam X 30"H	6	\$552.00	T	\$4,968.00
	Custom Made Chair Backs r Chaivarie Chairs	275	\$42.00	Т	\$11,550.00
	Dj Booths - Chicago - Wood W/ Mouldings Painted : Mahogany 6' X 28" X 41"H	1	\$660.00	T	\$660.00
			Total Recept	ion	\$65,752.11
Dessert Station	Serving & Display Carts - Frankfurt - Gold Frame 31âN N W 17âN N 1932âN N H	4	\$193.20	T	\$1,159.20
•	Mix and match Silver tray	10	\$39.60	Т	\$792.00

Description		Qtty	Price		Total
	Custom - Table Linen for 36'W Serp. Dessert Table 200" x 152"- Color TBD Satin	8	\$288.00	Т	\$2,304.00
	Custom Made Cake Table 48" round in Satin Double Sheets	1	\$288.00	T	\$288.00
		-	Total Dessert Stat	ion	\$4,543.20
Stage Backdrop	o + Front				
	24' x TBD Height Stage Fronts - TBD	1	\$5,400.00	Т	\$5,400.00
		Total Sta	ige Backdrop + Fr	ont	\$5,400.00
Late Snack bar	s				
	Tombs Bar to be use as DJ Booth	2	\$650.40	Т	\$2,601.60
		Т	otal Late Snack b	ars	\$2,601.60
Bridal Suit					
	Wall Mirrors - Milan - Wall Mirror Painted in Off white 37"W x 75"H - Custom Frame Color Upon Request	1	\$276.00	Т	\$414.00
	Sofas - Beirut - Curvy Ivory Velvet 102"W x 32"D x 26"H	1	\$540.00	Т	\$810.00
	Rolling Rack	1	\$60.00	Т	\$90.00
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	1	\$345.00	T	\$517.50
	Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H	2	\$234.60	T	\$703.80
6	Club & Lounge Chairs - Beirut - Ivory Velvet 30"W x 32"D x 27"H	2	\$358.80	T	\$1,076.40
	Fabric Treatment for a 15'x15' Bridal tent In Off white Chiffon with Backing Ceiling and Walls	1	\$4,200.00	Т	\$4,200.00
			Total Bridal S	Suit	\$7,811.70
Restroom Drap	e				
	Drape to Cover Reception Restrooms	1	\$1,800.00	Т	\$1,800.00
		Т	otal Restroom Dra	pe	\$1,800.00
Services					
	Crew to Fly to aspen on Wednesday	14	\$550.00		\$7,700.00
	Crew to Cross load Thursday	14	\$650.00		\$9,100.00

Description		Qtty	Price	Total
Беобприон	Crew to Install Friday	14	\$650.00	\$9,100.00
	Crew to Continue with Install Saturday	14	\$650.00	\$9,100.00
		12	\$650.00	
	Crew to Finish Touch ups Sunday			\$7,800.00
	Crew to Stand By	2	\$550.00	\$1,100.00
	All Crew to Strike Monday	14	\$650.00	\$9,100.00
	All Crew to Continue Strike Tuesday and Cross Load Semi	14	\$550.00	\$7,700.00
	Crew to Fligh Back to LA	14	\$550.00	\$7,700.00
	Flights For Crew To be Finalized once book	16	\$300.00	\$4,800.00
	Hotel Room for Crew	7	\$1,958.00	\$13,706.00
	Semis For all Events to be drop and bone Yards - TBD	5	\$15,000.00	\$75,000.00
	trucks	4	\$550.00	\$2,200.00
	Manager on Site For installed strike of all Events 3 total	1	\$20,300.00	\$20,300.00
	Presentation and Pre production	1	\$10,000.00	\$10,000.00
	Rental cars	2	\$700.00	\$1,400.00
	Mini vans for Crew	3	\$1,600.00	\$4,800.00
	Sub-rent Lifts for Crew to use - TBD	6	\$0.00	\$0.00
	Perdiem For Crew	15	\$679.00	\$10,185.00
	Found Delivery for Friday and Sunday + damge weiver for Sunday only	1	\$60,000.00	\$60,000.00
	Amber Lighting Fee For long term rental	1	\$5,313.00	\$5,313.00
Please make cho	ecks payable to Revelry, Inc.		Total Products:	\$427,956.51
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total L	.abor/Services/Misc:	\$276,104.00
		,	Wear & Tear (4.00%):	\$17,118.26
Notes	Notes		Packing (2.00%):	\$8,559.13
110103		•	Taxes (tax excempt):	\$0.00
			Discounts: Total:	(\$0.00) \$729,737.90
			Payments:	(\$0.00)
			Balance:	\$729,737.90